{.  Which one of the following statements best describes 'Constitutional Morality'?

a) It is the ¢ i - . , .
(a) 5 commitment to constitutional values for the inclusive and democratic
political process.

b) 1Iti 3 s -
(b) Itis a set of constitutional principles that put limits on the power of the government.

(¢) It means that a law is valid only if the correct procedure has been followed by the
legislature,

(d) Tt is a legal maxim that no person is above the law, and people are ruled by
impersonal law.

2 Which of the following is/are the discretionary powers of the Governor of a State?
(1) Recommending imposition of President's rule in the state
(2) Dissolution of the Legislative Assembly if the Council of Ministers has lost its
majority
(3) Promulgating ordinances
Select the corrcct answer using the code given below:
(a) 1and2only (b) 2 only
(c) 2and3only (d) 3only
8 Consider the following statements :

(1) A judge of the Supreme Court can be removed only on the grounds of proven
misbehaviour or incapacity.

(2) An impeachment motion against the Supreme Court judge can be raised in either of
the Houses of Parliament.

Which of the statements given above is/are correct?
(a) 1only (b) 2only

(¢) Both1land2 (d) Neither I nor 2

Code : S-22/ Set-A [ 3] Entrance Examination-2022-23
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Consider the following statements :

(1) Money bill can be introduced in the parliament only on the recommendation of the

president.

(2) The Rajya Sabha can detain ordinary bills for a maximum of six months.

(3) Constitutional Amendment bills must be introduced only by a minister.

Which of the statements given above is/are correct?

(a) 1only (b) land?2 only

(c) 3only (d 1,2and3

For which of the following reasons India is called a 'Republic' nation?
(1) In India, the head of the state is always elected for a fixed period.
(2) India is neither a dependency nor a dominion of any other nation.
(3) There is an independent judiciary in India.

(4) There is an absence of any privileged class in India.

Select the correct answer using the code given below.

(a) 2only (b) 1and2only

(¢) 1,3} and4 only (d) land4

Which of the following Cabinet Committees are headed by the Prime Minister of India?
(1) Cabinet Committee on [nvestment and Growth
(2) Cabinet Committee on Parliamentary Affairs
(3) Cabinet Committee on Security
(4) Cabinet Committee on Accommodation
Select the correct answer using the code below.
(@) 1and3 only (b) 2and 3 only

(©) 1,2
and 4 only (d) 1,2,3and 4

Entrance Examination-2022-23
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Consider the following statements

(1) 'Equality before law' prohibits any kind of special privilege in favour of any
individual.

(2) 'Equal protection of laws' prohibits differential treatment under any circumstances

whatsoever.
Which of the statements given above is/are not correct?
(@) 1only (b) 2only
(c) Both 1 and 2 (d) Neither 1 nor 2
'Right to Access Internet' is protected under which Article of the Constitution of India?
(a) Article 14 (b) Article 21
(c) Article 25 (d) Article 32

Concerning priority sector lending (PSL) by banks in India, consider the following

statements :

(1) The target of 40% for PSL applies to all domestic banks and foreign banks.

(2) It does not include advances made to start-ups.

(3) Small finance banks have to lend 75% of their Adjusted Net Bank Credit to PSL

sectors.

(4) PSL targets for Regional Rural banks are the same as that for Small Finance banks.

Which of the statements given above are correct?
(a) 1 and 3 only
(b) 2 and 4 only

(c) 3 and4only

(d) 1,2,3,and4

[ 5] Entrance Examination-2022-23
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Code : S-22/ Set-

- e cdu 3 .
-t L onvertibility? e i the Indian Rupee has full Capita)
1ta

(1) Increase i financial market liquidity

(2) Easy access to foreign capital

(3) Volatility in the exchange rate

Select the correct answer using the code givep below

a) land?2 ‘
( and 2 only (®) 2and3 only
(¢) 1land3 oniy (d 1,2ang3

Consider the following pairs of schemes and Objectives -

S No | Scheme

Objective

- . —_
1. Sahakar Mitra | To provide the young professionals with ap

opportunity to
work with cooperatives.

2. SANKALP To create awareness about schemes/initiatives
3. Chunauti To provide seed funding to start-ups in identified areas.
4. SAMBHAV

To strengthen institutions at the Central, State, and
District levels for skill development.

Which of the pairs given above are correctly matched?
(a) I and 3 only (b) 2and3 only
(c) 2 and 4 only (d) 1and4only
Consider the following statement :
(1) The demand for an infenor good decline when income rises.
(2) Veblen goods are high-quality goods whose demand decreases with a price increase.
(3) Demand tfor Giffen goods increases even when their prices rise.
Which of the statements given above are correct?
(a) 1 and 2 only (b) 2 and 3 only

(c) 1 and 3 only (d 1,2and3



(3. Consider the following statements :

(1) Easing of the external commercial borrowing by domestic companies
(2) Allowing Indian companies to list in the foreign stock exchange

(3) Nationalization of private companies

(4) Reducing investment limit for the Sovereign gold bond scheme

Which of the mcasures given above may help contain the Balance of payment (BOP) crisis

mn India?
(3) 1and2only (b) 3 and 4 only
(©) 1,2 and 4 only (d) 1,2,3and4

14.  Coneerning Stunding Deposit Facility (SDF), consider the following statements :
(1) The Reserve Bank of India introduces it to reduce the excess liquidity.

(2) All liquidity adjustment facility (LAF) participants are eligible to participate in the

scheme.
(3) Under it, the RBI needs to deposit collateral to borrow from commercial banks.
Which of the statements given above are correct?
(a) 1and2only (b) 1and3 only
(c) 2and3only d 1, 2 and 3
15.  Which of the following are most likely impacts of a high fiscal deficit in an economy?
(1) Lower interest rates on borrowings
(2) Possibility of a debt trap
(3) Lowering of sovereign credit rating of the country
(4) Increased dependence on foreign countries or financial institutions
Select the correct answer using the code given below. |
(a) 1and?2only (b) 1,2 and4 only

(c) 3 and4only (d) 2,3 and4only

Code : S-22/ Set-A [ 71 Entrance Examination-2022-23



18. Who among the following established the Provincial Government of India in Kabul,

16 Consider the following statements with reference to Unicorn Companies :

(1) It refers to any start-up having a value of cver $1 billion.

2) Th lue of unicorns is generally based on their financial performance over the last
( e valu S

three years.
(3) In 2021, India added the highest number of Unicorns globally.

Which of the statcments given above is/are correct?

(a) 1only (b) 2only

(¢c) 1and 3 only (d 1.2and3
17.  Concerning Wood's Dispatch of 1854, consider the following statements
(1) It promoted the Downward Filtration theory to promote education among all Indians.

(2) 1t recommended English as a medium of instruction at both the school level and in

bigher education in India.
Whict of the statements given above is/are correct?
(b) 2only
(d) Neither 1 nor 2

(a) 1only
(c) Both1and?2

Afghanistan, in 19159

(a) Sohan Singh Bhakna (b) Rashbihari Bose

(c) Lala Har Dayal (d) Raja Mahendra Pratap Singh

Consider the following statements with reference to the Charter Act of 1833 :
(1) Itended the East India Company's monopoly over trade with China.
\MM2) The restrictions on European immigration in India were lifted.

/3) No Indian citizen was denied employment under the East India Company based on

religion.
Which of the statements given above is/are correct?

(b) 2only
(c) 2and 3 only )

[ 8]

(a) 1only
1,2 and 3

S-22/ Set-A Entrance Examination-2022-23

20.

21.

NN.

Code : $-22/ Set-A

Which of the following are associated with the works of Mahatma Gandhi?

(1) All-India >::-8=orw_u:5~ League

(2) The New Economic Menace of India

(3)  Young India

Sclect the correct answer using the code given below.
(2) 1and 2 only (b) 2and 3 only
(¢) Tand3only (d 1,2and3
Consider the following statements with reference to Buddhism :

(1) The idea of the bodhisattva assumed greater importance in Mahayana.

(2) The Hinayana scholars considered the attainment of Nibbana as the highest goal.
(3) Nalanda was an exclusive centre for learnings of Mahayana Buddhism.

Which of the Statements given above are correct?
(@ land2 only (b) 2and3 only
(c) land3 only (d 1,2and3

Consider the following statements with reference to the Kushana kings :

(1) Kanishka convened the first-ever Buddhist Council after Gautama Buddha's death.
(2) Kushanas believed in the idea of the 'divine origin of Kingship'.

Which of the statements given above are correct?

(@) 1only () 2only

(c) Both 1 and 2 (d) Neither 1 nor 2

[ 9] Entrance Examination-20
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24.

25.

7

Code : S-22/ Set-A

Consider the following statements with reference to the Indus Valley Civilization (IvQo):

(1) There is no evidence of wheat or barley production.

(2) Indus farmers used multi-cropping strategies across summer and winter seasons.
(3) IVC farmers were among the earliest people to produce cotton.

Which of the statements given above is/are correct?
(b) 2and 3 only

(a) 1 only
(d) 1,2and3

(c) 1 and 3 only
Which of the following are the indirect sources of information for understanding Earth's

Interior?
(2) Volcanic Eruption

(1) Seismic Activity

(3) Meteorites

Select the correct answer using the code given below.
(b) 2and3 only

(a) 1 and 2 only
(d) 1,2and3

(c) 1 and 3 only
Which of the following are the possible environmental impacts of volcanic eruptions?
Q\\

(1) Coral reef damage

e

(2) Cooling Eftect on the climate

(3) Release of iron into the water

Select the correct answer using the code given below.
(a) 1and?2only (b) 2 and 3 only
(d) 1,2and3

(c) 1and3 only
This drainage pattern is formed when the tributaries of the master consequent streams are

developed in the form of a circle. Such pattern is set over a mature and dissected dome
mountain characterised by alternating bands of hard and soft rock beds. This is the most

likely description of
(a) Annular pattern (b) Barbed pattern
(c) Parallel drainage (d) Pinnate Drainage Pattern

[ 10 ]
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27.

28.

29.

Code : S-22/ Set-A

north to south?

(1) Taiwan Strait
(2) Palk Strait

(3) Malacca Strait

Select the correct answer using the code given below.
®) 2-3-1
(d) 3-2-1

(@) 1-2-3
(c) 3-1-2
Concerning the Cauvery River, consider the following statements :
(1) It originates from the Brahmagiri range in Maharashtra.

(2) The Ranganathswamy temple is situated on its banks.

(3) TIts tributaries include Penganga, Wardha and Wainganga

Which of the statements given above is/are correct?

(@) 1and2only (b) 2only

()3 cnly (d) 1,2and3

Consider the following statements with reference to Anticyclone’:

(1) It has the lowest air pressure at its centre.

(2) Mediterranean region is characterised by anti-cyclonic conditions due to the descent
of air currents.

(3) Cold anticyclones are thermally induced because they do not develop due to the

descent of air from above.

Which of the statements given above is/are correct?

(a) 1and2only (b) 2only

(c) 3only (d) 2 and 3 only &

[ 11 ] Entrance Examination-2022-23



@ Consider the following statements with reference to Petcoke :

(1) 1tis a carbonaceous product obtained in the oil refining process

It has a lower calorific value than coal.

(2)
(3) It is used for making electrodes in the metallurgical industries.

Which of the statements given above are correct?
(b) 2and 3 only

(a) 1and 2 only
(d 1,2and3

(c) 1and3only
Consider the following statements with reference to the Treaty on the Non-

31.
Proliferation of nuclear weapons (NPT) :

(1) Itis the only multilateral treaty that binds the party states to the goal of disarmament.
(2) Itrecogniscs only USA, Russia and China as the nuclear-wcapon states.
(3) Both India and Pakistan have signed the treaty but have never ratified it.

Which of the statements given above 1s/are correct?

(a) | only (b) 2 and 3 only
(c) 3only (d) 1,2and3

32. Regarding the Indian Administrative Service (IAS) officers. consider the following

statement.;:
(1) An officer serving in a state cadre must submit their resignation to the state's chief

secrelary.

(2) Those who take Voluntary Retirement Scheme (VRS) are entitled to a pension,

whereas those who resign are not.

Which of the statements given above is/are correct?
(a) 1only (b) 2only

(c) Bothland2 (d) Neither 1 nor 2

Code : S-22/ Set-A [ 12 ] Entrance Examination-2022-23

33.

34.

Consider the following pairs on defence exercises and participating countries -

SI. No. | Defence Exercise Participating countries
LAMITIYE India and Seychelles

‘ 2. Samudra Shakti India and Sri Lanka

3. DUSTLIK India and Uzbekistan

Which of the pairs given above are correctly matched?

(a) 1and 2 only (b) 2 and3only

(c) 1and 3 only (d 1,2and3

Consider the following statements about the World Anti-Doping Agency (WADA) :

(1) It was set up under the initiative of the International Olympic Committee (IOC).
(2) Tt was established by the Lausanne Declaration on Doping in Sport.
(3) 1Itis headquartered in The Hague, Netherlands.

Which of the statements given above are correct?

(a) 1and2only (b) 2 and3 only

(c) 1and3only (d 1,2and3

Consider the following statements with reference to 'Rogan' paintings of Gujarat :
(1) Itis the art of printing natural paper with vegetable dyes.
(2) Itis done using metal block printing or stylus painting.

Which of the statements given above is/are correct?

(a) 1only (b) 2 only

(¢) Both1and2 (d) Neither 1 nor 2

Code : S-22/ Set-A [ 13 ] Entrance Examination-2022-23
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37.

38.

Code : S-22/ Set-A

Which of the following countries share a boundary with the Black Sea? y 39
(1) Ukraine ) Cb/ ./Q Turkey
(3) Russia Duh;W\ (4) Moldova
Select the correct answer using the code given below.
40.
(a) 1and2only (b) 2 and 3 only
(c) 1,2and3 only (d) 1,3 and4only
Consider the following statements with reference to the Antarctic Treaty :
(1) It applies to all land and ice shelves south of 60° South latitude.
(2) It prohibits military activities, nuclear explosions, and radioactive waste disposal in
41.

Antarctica.

(3) Only the countries from the southern hemisphere can be its members.

Which of the statements given above is/are correct?

(a) 1and2only (b) 2only

(d 1,2and3

(c) 3only

Consider the following statements with reference to the BrahMos missile :

(1) Itis a supersonig cruise missile.  —}
(2) It can be launched from land, air and sea.

(3) Itis a threc-stage missile with solid propellants in all the stages.

Which of the statements given above is/are correct?

l'and 2 only

I only (b)

(a)

(c) 3only (d) 1,2and3

[ 14 ]
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Which of the following gases destroy the chlorophyll present in the plant leaves? Find the
correct choice

ANV :Nw and ZON A.Uv MON and pp

(c) SO;3and SO, (d) CO,and CO

The regime under which the production and trading of CFCs and other ozone-depleting
substances would be progressively phased out is what?

(a) The Montreal Protocol.

(b) The Chloro Fluoro Carbon Treaty.
(c) The Intergovernmental Panel on Climate Change.
(d) All of the options given are correct.

Diseases of which among the following are included in degenerative diseases?

(2) Heart, Joints

(1) Nervous system

(3) Joints

(4) Heart, Joints, Nervous system
(a) 1only (b) 2only
(¢) 3only (d 4only

DPT vaccine is categorized as which of the following?

(1) Anti viral vaccine

(2) Anti protozoan vaccine
(3) Anti rickettsial vaccine
(4) A combined vaccine

(a) Onlyland2 (b) Only2and3

(c) Only2,3and4 (d 1,2,3and4

[ 15 ]
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4.
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Which of the following 1/are the applica

(1) Potential

(2) Groundwater Prospects Mapping

(3) Biodiversity Characterization

(4) National Geographic Information System

Select the correct option/options given below:

(a) 1,2&3only

(¢) 1,2&4only

The working principle of a washing machine 1S

(1) Centrifugation

(3) Dialysis
(a) 10nly
(c) land2 Only

In the human body, which one of the following hormones regulates blood calcium and

phosphate?
(1) Parathyroid hormone
(3) Growth hormone

(a) 10nly

(c) 1,3and4 Only

Which Indian space tech start-up launched its first commercial satellite with Space X's

Falcon-9 rocke!?

(1) Pixxel

(3) Skyroot Acrospace
(a) 1 Only

(c) 1,3and4

tion of Remote Sensing?

[Fishery Zone (PFZ) Forecasting

(2) Reverse 0SMOosis

[ 16 |

() 1.3 &4O0nly

(d) All four

Diffusion
(b) 2Only

(d) 1,2and4 only

Glucagon

(4) Thyroxine

(b) 3 Only

(d) 2and4only

(2) Agnikul
(4) Dhruva Space
(b) 3 Only

(d) 1,2and4

Entrance Examination-2022-23

48.

Mobile Integrated Network Terminal (MINT), which was making
associated with which organization?

(1) RBI (2) PFRDA

(3) Indian Army (4) Indian Coast Guard

(@) 10mly (b) 3Only

(¢) 2,3and4 (d 1,2and3

news recently, 15

The Indian Oil Corporation- Phinergy joint venture was formed to manufacture ultra-

lightweight metal-air batteries for electric vehicles (EVs).

Statement (I) : The joint venture will replace lithium with Aluminum to make batteries

that will charge faster and work for a longer time.

Statement (II) : The joint venture will replace lithium with Copper to make batteries that

will charge faster and work for a longer time.

\r: Only statement (I) is true

49.

50.

Code

/

(b) Only statement (II) is true
(c) Both statements (i), and (II) are true

(d) None of these

The last digit of the number obtained by multiplying the numbers 7
/17,78, 79 will be

() 7

@
5

() 9 d 0

L

A and B walk around a circular park. They start at 8:00 am from the same point in the
3 rounds per hour,

2 A

1. 72, 73, 74, 75, 76,
(P
2 L x2 L

NX%

opposite directions. A and B walk at a speed of 2 rounds per hour and
> rounds per Aot

0 . \I\‘I‘
respectively. How many times shall they cross before 9:30 am.

@@ 5 b 6
(c) 7 )y 8
S-22/ Set-A [ 17 ]
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47.  Mobile Integrated Network Terminal (MINT), which was making news recently, 1s

43.  Whichof the following is/are the application of Remote Sensing? associated with which organization?
(1) Potential Fishery Zone (PFZ) Forecasting (1) RBI (2) PFRDA
(2) Groundwater Prospects Mapping (3) Indian Army (4) Indian Coast Guard
(3) Biodiversity Characterization @ 10aly ) 30l
@ 1,2and3

4) National Geographic Information System
(4) National Geograp! (©) 2,3and4

Select the correct option/options given below:
The Indian Oil Corporation- Phinergy joint venture was formed to manufacture ultra-

lightweight metal-air batteries for electric vehicles (EVs).

(a) 1,2& 3only

(d) All four ) )
Statement (I) : The joint venture will replace lithium with Aluminum to make batteries

(¢) 1,2&4only
that will charge faster and work for a longer time.

44.  The working principle of a washing machine is

(2) Reverse osmosis Statement (II) : The joint venture will replace lithium with Copper to make batteries that

(1) Centnifugation
will charge faster and work for a longer time.

(3) Dualysis (4) Diffusion
(a) 10nl (b) 2 Only \\& Only statement (1) is true
(¢) land2 Only (d) 1,2and4only (b) Only statement (II) is true
In the human body, which one of the following hormones regulates blood calcium and (c) Both statements (i), and (II) are true
phosphate? 2 y
. (d) None of these @
(1) Parathyroid hormone (2) Glucagon
il b . o " 7
(3) Growth hormone (4) Thyroxine 49.  The last digit of the number obtained by multiplying the numbers .\ﬁ..\q\:. 73, 74, 75, 76,
/17,78, 79 will be L x 2 L
(a) 1O0nly (b) 3 Only / - 2
, OB ® 7 < £
(¢) 1,3 and4 Only (d) 2and4 only m. 2
. Which Indian space tech start-up launched its first commercial satellite with Space X's s ()43 ; @ 0 2~ A \W m
Kaloon=5 ocke(? 50. A and B walk around a circular park. They start at 8:00 am from the same point in the
(1) Pixxel (2) Agnikul opposite directions. A and B walk at a speed of 2 rounds E and 3 rounds per hour,
2 rounds pef 2ot
respectively. How many times shall they cross before 9:30 am.
(3) Skyroot Acrospace (4) Dhruva Space \W @)
_ (@ 5 (b) 6
(a) 1Only (b) 3 Only 2
(¢) 13and4 (@ 1.2and4 () 7 d 8
[ 17 ] Entrance Examination-2022-23
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52.

53.

54.

55.

Code : §-22/ Set-A

a0¢ of a family of 6 members is 22 years. If the age of the youngest m —
(=]

The average o i
be'7 years. what was the average age of the family just vm,n.c_d the c__:: of the youngest
vork <y

member

¢ distributed as cash prize to seven students of a school for their

A sum of INR 700 has to b
demic performance. If each prize is INR 20 less than its preceding prize, what

overall aca
is the least valuc of the prize A
: v
(a) 60 (b) 50 @\ o0 X
(c) 40 (d) 30 An.

The average of 5 consecutive numbers is n. If the next two numbers are also included. the

average will be :

(a) 1ncrease by | (b) increase by 2

(¢) increase by 1.5 (d) remain unchanged

Person A has some coins. He gives 1/3 of the coins and 3 more to B. B gives half of the

coins and 3 more to C. C gives half of the coins and 3 more to D. The number of coins D
7V
ﬁu\ﬁ 0 . ' L,o“
+ 75 b _ Q %
Vo \ %

In a class therc are 18 boys whose height exceed 1.70 m. If these constitute three-fourths
of the boys and the total number of boys is two-thirds of the total number of students in

has now is 16. How many coins did A have in the beginning?

(a) 129 (b) 133

(c) 96 (d) 108

the class, what is the number of girls in the class

v 12

(d 21

(a) 6

(c) 18

[ 18 ] Entrance Examination-2022-23
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Jim lives in New York City, but he plans to drive to Los Angeles in order to seek fame and
fortune. Jim's funds are limited, so he has decided to spend each night on his trip at a
triend's house. Jim has friends in Columbus, Nashville, Louisville, Kansas City, Omaha,
Dallas, San Antonio, and Denver. Jim knows that after one day's drive he can reach
Columbus, Nashville, or Louisville. After two days of driving, he can reach Kansas City,
Omaha, or Dallas. After three days of driving, he can reach San Antonio or Denver.
Finally, after four days of driving, he can reach Los Angeles. The actual road mileages

between cities are given in Figure below.

What minimum distance Jim has to travel to reach Los Angeles if he decides to stay

overnight at Louisville and Kansas City.

Columbus | 450 _ | Ramuas Clty
2 5
550 ! % [ Denver
/ —; " ! 8
; BN I/ 0w
/ \ \
Omain ! Los-Angeles
® 10
, a0\ ‘_,w _ .._...\... Stage S
A A ey
s 71080 di—.‘ ®
3 T Stage 4
% To0 Vi m
Louisville — Dallas
4 XUy 7
Stage ? Sage 3
(a) 2420 (b) 2730
(c) 2920 (d) 3460
If Paisa:Rupee ::?: Kilometre
(a) Decametcr (b) Hectometer
(c) Quintal (d) Meter
[ 19 ] Entrance Examination-2022-23
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59.

60.

Code : 5-22/ Set-A

90 people like tea while 108 people like coffee and 46 people like

Among 200 persons,
¢ like neither tea nor coffee? e

both tea and cottee. How many peopl )
(a) 46 (b) 44
(c) 62 (d) 48

With reference to the election of the President under the constitution of India. Consider E..H

following statements:

r of the Parliament shall have as many votes as there are

. Each elecicd membe
iding the population of the coun

multiples of 1000 in the quotient obtained by div

by the total members of Parliament.

I Divide the total number of votes of all the elected members of the Legislative
Assemblies of the states by the total number of the elected members of both mosmamw

of Parliament to obtain the number of votes which each elected Member of

Parliament is entitled to vote in presidential election.

Which of the statements given above is/are correct?

(a) Onlyl (b) OnlyIl

(c) BothlandlIl (d) Neither I nor 1

With reference to the remand during the investigation and after an investigation under
section 167 and 309 of the Code of Criminal Procedure. Consider the following

statements
1. The Magistrate can authorise the detention of the accused in police custody for a term
not exceeding fourteen days during investigation.

term excecding ninety days at a time.

Which of the statements given above is/are correct?

(a) Onlyl (b) OnlylIl

(c) Bothland Il (d) Neither I nor Il

[ 20 ] Entrance Examination-2022-2
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